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A Z M

B2 TAM B Y X4
&2l XY=Sot etd 2tel (el &)
_ _ SIEN
SNBSS - MEAY - BES 0] &F o il ot o Bz
01 =W 2,400 2,160 240
OSISs Y AHNRSER ofH
20,000 » 2% » 52 » 128 2,400
203 ¥R =&l 5,000 5,400 A 400
03 AZFXHRFAH| 5,000 5,400 A 400
OZHEH HRFA 5,000,000 5,000
301 EtEA = 7,780 7,780 0
10 HAAHIZ &3 580 580 0
OSIELIHRY us 2L
20,000 » 6% * 43| 480
O0lsAdlXtaga 28 5,000 = 108 + 23] 100
12 JIEtEA S 7,200 7,200 0
OS2IIEMER B4 100,000 = 6H = 12& 7,200
HEAESESE 22 60,000 46,250 13,750
201 Let2d| 40,000 36,250 3,750
01 AtE22|HI 40,000 36,250 3,750
Oget=g| 40,000
—JtEAMESESE E22 MA 2,000
AEIH HE 700 = 2,000% 1,400
=0 M 100,000 * 6K 600
—JtEAEASE ME 30,000,000 30,000
—asFd2e 2208 |RXAE= 8,000,000 8,000
301 YptEaag 20,000 10,000 10,000
12 JIEtE2 4= 20,000 10,000 10,000
o432 sliiEss /e 24 20,000
—ZOEXZ 20,000,000 20,000
HY2AHH (FH) 165,321 161,775 3,546
Jl2Z (2 D) 165,321 61,875 103,446
Jl2& | 165,321 61,875 103,446
201 B3| 42,420 34,580 7,840
01 AtE22|Hl 42,420 34,580 7,840
Oget=gH| 35,420
—=ABX T (M)
22,000 » 30&t%t+ « 128 7,920
—ANREZ 2 3,100,000 3,100
—dT=AD KX 4,500
S @ILECIX (PCU) 400,000 * 63l 2,400
- EUILECIX 100,000 * 62l 600
SAI ==cl 250,000 * 3CH = 23| 1,500
—ZeH Ed 7Y 300,000 * 8CH = 43| 9,600
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SA AHD
Ho: S SAAH (ZH D)

Sl JI2FHI(FRD) (e @e
_ _ pSNE e
SA-EFH - SA(SAH) - MREAY - BES Off &F OH oﬁfﬁﬁ Hws2
—Dely A28E 29 2 42
200,000 * 8CH * 1l 1,600
—2TEd €4 P2
450,000 * 3TH * 444 5,400
—FX EY P 150,000 * 1CH * 23| 300
—HHAA RO Y PEYEE 2SS 7Y
1,500,000 1,500
—SNBEST S 7Y 1,500,000 1,500
SETE] 7,000
—NAA22X S2OHAYI 7,000,000 7,000
202 01| 28,512 24,495 4,017
01 2L otHl 28,512 24,495 4,017
OJlzge +3oi|
120,000 * 33% * 128 * 60% 28,512
203 YR =X 93,480 0 93,480
01 JIBSYHREAY| 89, 100 0 89, 100
oz 52,800,000 52,800
oRz+ 36,300,000 36,300
04 RASILREA| 4,380 0 4,380
ORN2YLRETY 365,000 * 122 4,380
405 XH&HF S 909 2,800 A1,891
01 KoL 2Z3 S| 909 2,800 ~1,891
SEDY 180,000 * 27H 360
Ow=D 299,000 * 1CH 299
OWBH A 250,000 * 1CH 250
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